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15.52kg 10.9kg
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3:15.52 + 10.9 = 26.42(kg)
2}:15.52 - 10.9 = 4.62( kg)
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(1) 548 +27.9 (2) 12-1.281

@ (1) 33.37 (2) 10.729 @(1) 33.38 (2) 10.719
® (1) 33.27 (2) 10.729 @ (1) 33.28 (2) 10.719

® (1) 34.38 (2) 10.729

(1) 5.48 + 27.9 = 33.38
(2) 12 - 1.281 = 10.719




e o] WAlS A2,

(1) 6.004 - 5.15 (2) 17.457 — 4.163

@ (1) 0.841 (2) 13.284 @ (1) 0.844 (2) 13.294
® (1) 0.851 (2) 13.284 @(1) 0.854 (2) 13.294
® (1) 0.854 (2) 13.284

(1) 6.004 — 5.15 = 0.854
(2) 17.457 — 4.163 = 13.294
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0.18 + 0.63 = 0.81
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= km
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> HE 0.9km
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(2)6m75cm = Dm

@ (1) 0.028 (2) 0.675 @ (1) 0.028 (2) 6.75
® (1) 0.28 (2) 0.675 @(1) 0.28 (2) 6.75
® (1) 2.8 (2) 0.675

B

(1) 1em = 0.01m

28 cm = 0.28 m

(2) 6m75cm = 6m + 75 cm
=6m+0.75m = 6.75m
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7182 m(km)
> E: km

[> Hehl 7.182km

1m = 0.001 km
7182m = 7.182km
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29. % 5¢] 2718 HlEste] O el >, =, <& FWA HHOAL,

06-05004-0.2
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0.6-05=0.1, 04-02=02
wabA 0.6 — 0.5 < 0.4—0.2




30. #153kgollA 2.876kg= MEUTH F2 22 2 kg A FoHA L.

> E: kg

> MEH 12.424kg

15.3 — 2.876 = 12.424( kg)
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